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day,February Theorem 12.10 (mr):For X,TX2,
-

of X (more) is primitive the
Start looking of PLx,X): EA(nX(n). 4(x,x) =5x7a+13
using Person'sformula:for x 1,

-
27 ·log(x-1)

44,x) =25 (- z(,x) ds P
P

2xx (v) = T

where Imeans Sea and
-

2)((x+1 +C(X),

↓(x,x) =1(4(x;x) +H(x+x)). where p
runs over nontrivizes

Shift the contine of integration: AUK.X) and
Wiever

((x) =I4,X)i7 q-13
rep#ripi)

S
+135-3 /innsand

D + R(s,T,X)
-2

take where R(X,T,X) < 10g x-m91,5]
U5X

& (bs (9x755, where <x):distance

N fromX to theworst priceorone



1
Lettily 10: = [X*h)A(n)
4.(x,X) =5xifa+3 -5 (n**

-1
P (n,qk)

=

1

- [by(X-1) - X-plog(x+) + ((X).

"explicit formula"XACT.
I [ALD =1 lospSenIx

(4,9)>/

Side note:whatis X (more) is =Elospsis<

induced by X*(mora*)?
< 2bxx <logx.logg.x(x,x*) =2 **InA(>

p(q,
n5X

(y,q+) =1 So for on X (moval,
- x*(n)A(n) + [x*(n)A(n).
nIx nx

⑭(n,aire
x(x,x) =5x + X=4.3

4x,*) (n,q*)
=
1

- E*+O(1oxlosa
Hence 4(x,x*) -x(x,*) (tu,x)



1
We've seen Notethis f(x) =losp
x(x,9,0) =[A(n) prsx

n=X

n50 [mo -5psp +21p +21p +
psx ps. .

- o [x(4(x,x) 4(x) =8() +0(X*) +0(x) ...
x know)

=20().
-- nTaSXK< By "Morius inversion"(8)
-(loga1sx +1/145)) 0x) =9u24(x*)

↓

x(q) -4(x) 4(x) -47)
-4(*)+

**70 x(x*) ,...
=x(x) - (x sero) +(error)Below to 4(x) =[N(n) So

our related f(x) =w*lep, 74-51. AAX -H**p*<
-5% tosamores primes



1
To go from O) $aH, For primes in orthmetic progressions,

we use partial summation: H(;9,0) =28s0
pr=x

p=0tmeq)H() -STT dOt =Elsp=[ 1sp +..

p2=x-o > SoL p.DYmoa) p25o(more)

5-li I0X10(1) =Okis** [ O(x;9,b)
b(moz) 7- -r-

125 a God]x()X
- 1 to).=

Ex #we hatcala)=#5b (mmralsbalmoz)
4- 8 the

-
↓ ↑(x;9,5) =0(,9,8) +ca(a) ()↓potrim

lexyofain1994-.. tebr.
I> ⑰

->

throw away
(squares in particular -d.**,4Id,YOR oceprime powers

Ho(D,


